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=9 A 127,402
F Q17 3009k o] 500%HE w]wk 68,333
o Q15+ 200%EE o] 3009y w|wk 52,784
Al |91 2009 =)Wk 37,563
=W A X A 35,383
A7 % 77,633m’
=~ |25 300%8HY o] 4009y w9k 44,974 m
|1 2009k o4k 3009wk 43,376m
A+ 1009+ ©]4 200%HE w| gt 39,089
E 2] 32,223
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T 5 7l = 9 4
ol 10w muk 11,893m’
A+ 10%Hg o] 209y wwk 13,965m’
A5+ 20%Hg o] 309y wjuk 17,759 m’
A A5+ 30%HE o] 509y wjuk 18,907 m'
A5+ 50%Hg o] 709y w)uk 19,098 m’
19~ 708 o]t 904t mwt 20,214 m
A+ 90wy o] 100y v 21,968
o1+ 1007k o)A 22,319
Q1 39y wjql 7,525m
Ql4- 3R o]At 54t mwk 8,385m’
Tol | 5%y ol 107k wjwk 9,406 m’
A+ 109Hg o] 159y wjuk 11,829 m’
Nin o1+ 1534 o]Ak 13,582m’
ol 107k wwk 11,861 m’
F9AE Q1 109 o)A 159y w]wl 12,020m
(815 159 o]AF 50wy ww 14,061
o1+ 508t o)At 18,206 m’
SHAI (914 507 vk 26,3681
A | AAE [T 508 o1 27,484
3 o1+ 1074 wwk 11,861 m’
FAAe] o1 10w o)A 15uhy wwk 12,020m’
T | gx7 [QF 1579 o 50%hE ol 14,061
o1 5014 o)Ak 18,206 m’
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